
RSGQ SWB                 Version  

                        30-11-09                                  Page 1  

Outback Accessories Australia  
Part No.  RSGQS - X-ROX Side Protection 

Nissan GQ - SWB 

 

The X-ROX slider was developed to protect the sill and lower panels of the vehicle when serious off 
roading. 

This slider is not intended to be, and cannot be used as, a step.  

 

Fitting Instructions 
1. Remove OE side steps if fitted. 

2. Working form the L/H side fit the centre mount around the chassis, between chassis and brake 
pipes. Jack up the front of the bar into position around the chassis gusset of the chassis/body 

mount. Then jack the rear up to line up with the hole in the bottom of the radius arm mount on 

the chassis.  

3. With the bar in position and parallel with the body, the two front holes can be drilled then the 

rear hole and the centre mount hole through the chassis.  

4. Secure the front mount with 2) M12x30 bolt, f/washers, s/washers and M12 nuts.  Centre mount 

with 1) M12x110 Bolt, 2) F/washers, 2) S/washers and 2) M12 nuts. Rear mount with 2) 

M12x30 bolts, 4) f/washers, 2) s/washers, 2) M12 nuts. Tighten all bolts. 

5. Repeat instruction for the R/H side fit up.  

Kit Contents 

Qty. Description Qty. Description 

1  RSGQS Slider R/H 10 12mm Nuts 

1 RSGQS Slider L/H 20 12x3mm thick Flat Washers 

8 12x30mm Bolts 10               12mm Spring Washer 

2 12 x 110mm Bolts 1 Fitting instruction 

 

 
Kit Packed by:  

 
Checked By:  

 
Date:  

 


